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Read the following instruction carefully gﬁ%mﬁaqﬁmﬁﬁsﬂﬁ

before you answer the questions. Answers

are to be marked on a SEPARATE O.M.R.
SHEET

1. Please write your Roll No. very clearly
(only one digit in one block) as given
on your admission card and even
zeros appearing in Roll No. should be
correctly written in the appropriate
blocks on O.M.R. Sheet.
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Year Roll No.
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MENTAL ABILITY TEST
NfEgD aAgar qheor

questions: 110 90

PART-l (MT1.1)

pirections : (Q. 1to §) e (3. 1% 9)
issing number in the foll o ,

Emet:e:cnhich greplaces the qu:;::gﬁ LR e o T TS A hall
mark? W R () I
at 13,743,247 T4 1,3,7,13,21,?

(1) 33 (1) 33

(2) 31 (2) 31

(3) 29 (3) 29

(4) 27 (4) 27
Q2 80, 40, 20,10, ? w2 80, 40, 20, 10, ?

(1) 5 (1) 5

)8 (2) 8

3) 4 (3) 4 .

)2 4) 2
Q.3 0,1,8,27,64,7 9.3 0,1,8,27,64,7

(1) 90

(190 (2) 100

(2) 100 3) 125

(3) 125 @) 216

215 94  3,7,15,?,63
Q4 3,7,15,7,63 1) 31

(1) 31 (2) 42

(2) 42 (3) 43

(3) 43 (4) 34

(4) 34

M‘
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Q5 1,2,9,7,65,126

(1) 28

2) 82

3) 63

4) 36

6,24, 12,16, 18, ?, 24
(1) 20

(2) 32

3) 28

4) 8
1,7,8,4,27,9, 64

1 1

(2)

(3)

(4)

Q.8 1,4,9, 16, 25, 36, ?
# (1) 45
(2) 49
(3) 60
4) 64

Q.6

Q.7

AW N

Directions : (Q. 9 to 12)

Find the wrong number in the following
series—

Q.9  5,10,18,26,37, 50
(1) 5
2) 18
3) 26
@) 50

1,2,9, 765,126

(1) 28

(2) 82

(3) 63

(4) 36
6,24,12,16,18, 72, 24
(1) 20

2) 32

(3) 28

4) 8
1,?,8,4,27,9, 64

(1 1

2 2
3 3
4) 4
1,4,9, 16, 25, 36, ?

0.5

9.6

w7

.8

(1) 45
(2) 49
(3) 60
(4) 64

T (7. 9/ 12)

% & ™ swen F 9% v W w1
FGA S ST ST T 8-
9.9 5,10, 18, 26, 37,50

(1) 5

(2) 18

(3) 26

(4) 50

\X

Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



AL

g 7 10

(1) °

(2) 1

@ 13

@ 7

(1) 10

2 12

3 15

(4) 16
AN
R

(1) 10

2) 8

(3) 12

@4 9

w17

5 7 10
(1 9
2 1
(3) 13
7

9’18
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w.23
3 8 7
5 |42 4 2 (60| 6 9 |?7| 3
2 4 8
(1) 81
(2) 92
(3) 83
170
B
\eTs/ \& ﬂ
(1) 35
(2) 40
(3) 55
(4) 56

588

k_m

NDAIDAGD

(1) 09
(2) 36
(3) 64
4) 81
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How many triangles in the given | w.30 R e fersr 3 e g # 2
Q_SD ﬁgurﬂ? e

(1 8 (1 8

2) 10 (2) 10
@) 12 @) 12
(4) 14 (4) 14
o3t Howmany squares in the given | .3, for e e & e i £ 2
figure?
(1) 15 1y 15 )
(2) 14 (2) 14
3) 13 (3) 13 ’
@ 10 (4) 10 |
Directions : (Q. 32 to 35) et (@, 329 35)

In each one of the following question ﬁ'ﬁﬁ’lﬁ!ﬂﬂﬁﬁﬁqﬂqﬁ'ﬂm!ﬁm
chose the correct mirror-image of the

figure/word from the alternatives given F ¥ we Ry e Rt F ¥ i W

withit? FAm?

Q.32 MOUTH W.32 MOUTH
(1) HLNOW (1) HLNOW
(2) WOULH (2)  WOULH
(3) MOUTH (3)  MOUTH
(4) HTUOM (4) HTUOM

W
"
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g

octions : (@ 38 to 40) e (9. 38 @ 40)
D <o the correct water image of figure e w feped & ¥ R () W W
(x):‘:’m given alternatives? m—ﬂﬁﬁﬁﬂﬁq?

/#A %\
(x)
(1) W (2) %}/ (1) \W @) %}/

2l \<?// N4

(1)

oS I
X | X
o TL‘ o b
X X

(4) (4)

13
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pirections : (Q. 56 to 60) e (9. 56 @ 60)
In these questions from the given Tl o fw el o & 3w e @t Bifew

alternatives select the word which can

be formed using the letters of the given i R e v o ST T T |
word.
Q.56 SOCIALIZATION .56 SOCIALIZATION
(1) LONG (1) LONG
(2)  LITTLE (2) LITTLE
(3)  LOSIONAL (3) LOSIONAL
@) ZINC (4) ZINC
Q37 MACARONI 9.57 MACARONI
(1) MARK (1) MARK
(2) ROME 2 ROME
2l CORAW (3) NICORAM
(4) MARCER @) MARCER

Q.58 MODULATION 7.58 MODULATION

(1) LOCATION (1)  LOCATION
(2) LONE (2) LONE
(3) LOAN (3) LOAN .
(4) DELTA (4) DELTA
Q.59 DIRECTIONS W.50 DIRECTIONS
(1)  NATION (1)  NATION
(2) RECTOM (2) RECTOM
(3) NOISE (3) NOISE
(4) LION (4) LION
Q.60 CREATIVITY .60 CREATIVITY
(1) TWITRE (1) TWITRE
(2) CARVEY (2) CARVEY
(3) RENTY (3) RENTY
(4) THEATER (4) THEATER
% .
19
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Q.64 15+20=17+7
(1) 10
2) 1
3) 15
(4) 18

Directions : (Q. 65 to 69)

A triangle represents doctors, circle
represents players and rectangle
represents artists. Study the given figure
for questions.

Playgrs\}/\

\Z2~4_ ] 17
22 /8 Doctors
30
Artist
Q.65 How many numbers of artists
are players?
(1) 6
2) 4
3 8
4 3
Q.66 How many numbers of artists

are players?

1) 17
2) 22
(3) 25
(4) 8

e e T Eeamp——— ‘
< e

64 15420=17+7

1) 10

2) 11

(3) 15

4) 18
e (7. 65 @ 69)
o o B s @, ga Raenfeat &
TN AT FTHRI T AT T ¢
v % fre fo e e v e A 2

et
~ N
\23~4_ ) 17

30

TR

9.65 e e Tt FEER SR

Raemet «ft 22
(1) 6
(2)

(2) 22
(3) 25
4) 8

21
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Q7

Q.72

Q.73

Q.74

A boy said, his sisters twice then
her brothers. His sister replied
that the strength of her brothers
and sisters are equal. How many
brothers and sisters are there?

(1) 2 brother and 2 sisters
(2) 2 brother and 3 sisters
(3) 3 brother and 4 sisters
(4) 3 brother and 3 sisters
Arrange the following words as

per order in the dictionary and
choose the one that comes first?

Temple, Terminate, Tenant,
Temperature

(1) Temple

(2) Tenant

(3) Terminate

(4) Temperature

Find the odd number from the
given alternatives?

(1) 87

(2) 17

(3) 13

(4) 29

What is the minimum number of
colours required to fill the
spaces in the diagram without
the adjacent sides having the
same colour ?

(1)
(2)
&)
(4)

(o) B~ S I (N

9.7

.72

.73

.74

23

TF TP A T8 A q€A1 B HEAT
At A ) W A 2 ot €| swwt
T A T BF 3 91 F w1 3y
e g | Fad & Rea o
IAnaEt?

(1) QAR

(2) QAudsRdTaET

(3) o uE SRR =T

() oo ST

fFrafofaa v = vEww ®
HIAR FHEE B AT FTH § N
TR ST ST ?

Temple, Terminate, Tenant,
Temperature

(1) Temple

(2) Tenant

(3) Terminate

(4) Temperature

u gu el § ST I A ?

(1) 87
2) 17
3) 13
4) 29

e e R o @l wR S |
FHH N H TN AT R, & @ et
T T T H W O AR
A Fa T o s R s G s
wHaTE?

(1)
(2)
@)
(4)

o A WwWwh
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R S T

N9 |a|?

W.85

(1)

(2)

(3)

(4)

4)

V9 |4

(1)

Q.85

()

©)

(4)

(1)

(2)

(3)

(4)

29
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Q.89 Select the related word from w.80 faw e Ryeredl Ff ¥ wraf-ae weg W
the given alternatives:

TqAHG
CURE : DISEASE : HEAL : ? PO S G —
(1)  ILLNESS () fr
(2)  INJURY () =
(3) RECOVER (3) EEE
(4) SICK (4) ®WMR
Q90 Find the odd word pair from the | %-90 R Rt A7 ST ¥ ST
given alternatives: A
(1) High—-Up (1) FM-FIK
(2) Past—Present (2) eI — ST
(3) Often — Seldom (3) WAE: - e
(4)  Fresh— Stale (4)  om- =

31
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Q9

Q.94

Q.95

Q.96

The angle between the original
path of incident ray and the
emergent ray coming out of the

prism is called angle of
(1) incidence
(2) reflection
(3) refraction
(4) dewiation

Which of the following part of
eye controls the amount of light
entering the eye by contracting
or dilating?

(1) Retina
(2) Comea
(3) Pupil
(4) Ins

By induction method, charge
produced on near by insulating
objectis of

(1)  Equaland same nature

(2) Moreand opposite nature
(3) Lessandopposite nature

(4) Equalandopposite nature

Resistance R is connected with
an ideal battery. If the value of
resistance is decreased, then

dissipated power will

(1) Increase

(2) Reduced

(3) First increased after then
decreased

(4) Remainssame

v93 uw fow ® o sndfv RO o
Pyrter o @ v W AT W07 WY
st
(1)  Fwfery T
(2) fefe o
(3) St o
4) faeem o

w94 By & @ W wm e F vdw

B v W ) AT W s
e PatTa s d?

(1) e
(2) i
(3) el
(4) RenReer (Iris)
qos oy Ry g, Red wEe @
o R W g SR
(1)  EEFT S GRT T Bk e
(2) i wear Ryl vl =
gard
(3) w° aar eda vkt w7
oand '
(a) = o faada wegi ==
o
.96 WRRY R% Redt see et W

SireT T | 3R wRRY w5 A w9
¢ R =g, o S = TR

(1) =gl

(2) =R

(3) TESERI AN R
(4) ST

#

33
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Q.99 How will the image formed by a

(2)
(3)
(4)

Q.100

convex lens be affected if
the upper half of the lens
be affected if teh upper
half of the lens is wrapped
with black paper?

The size of the image
reduced to one half

The upper half of the image
will be absent

The brightness of the image
is reduced

There will be no effect

When we press the bulb of

dropper with its nozzle kept in

water, air in the dropper is seen

to escape in the form of bubbles.

Once we release the pressure on
the bulb, water gets filled in the
dropper. The rise of water in the

dropperis dueto

(1)
(@)
3)
(4)

Atmospheric pressure
Shape of the rubber bulb
Gravity of the earth

Pressure of water

9.99 u&mﬂn%m%aﬁﬂﬁ
= T T ¥ e e A A
R T e SR 9 e

T

Q)
(2)
(3)
(4)

gffepsr =1 qEST AT E
Syl

R =1 S W S
fere T
ffira #t o9® 9 @
et
offrsr T wIE U T
B

w.100 v/ Rt g @ =g () W

et T T T wow W AR €
A I N T goge ® A
e Preer g8 Reard A €1 wew
Y T EST A T A H g W
e &1 I W qEt ® "R W

HROTE

(1)
(2)
(3)
(4)

AHSA T
TEE T oo Tl SR

e & e
qrt T

W

35
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Q.123

Q.124

Q.125

Q.126

In which characteristics of
adaptation is found?

(1)  InMetals

(2) InNon Metals

(3) InLiving Things

(4) InNonLiving Things

What is the surrounding called?
(1)  Environment

(2) Atmosphere

(3) Lithosphere

(4) Biosphere

Which sex chromosomes are
presentinman?

(1 XY
2 XX
(3) XXX
4) YY

Multiply(25/-9) x((1/3)and what is
the answer

M 2
@ =2
@ 2
“

9.123 Sqeerwiern = 7ot R 3 arn

e ?

(1) wgaAH
(2) SERgHATH
(3) wefErH
(4) Frflard

T.124 BERCERT SR URARTITFATHENE ?
(1) wafEReT
(2) ST
(3) TEAHTSA
(4) SEHTEA

T.125 EEAPAARATPORATAE?

1 XY
2 XX
(3) XXX
4) YY

W.126 (25/-9) | (1/3) ¥ U FH W

TR ST BN ?
(1 2
@ 2
@ 2L
“ 2
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Q.131 Findthe squarrootof2.56

(1) 16

(2) 1.06

(3) 0.16

(4) 0.016

in a laboratory, the count of
bacteria in a certain experiment

Q.132

was increasing at the rate of
2.5% per hour. Find the bacteria
at the end of 2 hours if the count
was initially 5,06,000

(1) 531616.25

(2) 55000.25

(3) 531617.25

(4) 551616.25

Q133 Simplify (25xt™)+ (5°x10xt")

(1) 5't'+2

(2) 5442
@)  5+2t'+10

@) 10t

Water is pouring into a cubical
reservoir at the rate of 60 litres
If the value of

Q.134

per minute .
reservoir is 108m’, find the
nember of hours it will take to fill

the reservoir.

(1) 40hrs
(2) 50hrs
(3) 10hrs
(4) 30hrs

w131 2.56w arfeqer fivaot

(1) 1.6
(2) 1.06

(3) 0.6
4) 0.016
w.132 e warmeen # dfwzfean 2.5% vt

R rm A g @ i ®

qvar dfzfrar = o war gt
i g amer o WA 5,06,000 ¥
(1) 531616.25
(2) 56000.25
(3) 531617.25
4) 551616.25

T.133 WO (25xt ™) + (57 x10xt”)

(1) 5''+2
(2) 5'+t'+2
(3) 5'+2t'+10
4) 1ot
T.134 T HAIN R ST B OO ¥ qreft

60 FheT uftr e ® fremr & A Ter 1 Al

ST W A 108 H° # A oreTe W

qa P e e
(1) 40w
2) 50%e
(3) 102
(4) 30®

-

43
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Q.138 When a number is divided by
125, the remainder is 82. When
the same number Is divided by
25, the remainder will be—

(1 8
@ 9
3) 6
4) 7
Q.139 72% of 25 students are good in

mathmatics. How many are not
good in mathmatics?

1 7
(2) 18
(3) 15
4) 10
2 .3 1 3.3
Q.140 Find 5 X717 X5
-1
1 7
1
@ <
3) 1
4) -
Q.141 Solve (3x-4y) (3x+4y)
(1)  ax-6y’
(2) 9x-16y°
(3) 6x-8y
4) 8x-6y’

W.138 OTa QO GEAT Y 125 F ST e o

2 9ry 82 arere & | over = AT 25

A W7 Y o Y By e e 2
(1) 8
2) 9
3) 6
4 7
W.139 25 Rrenfdal & ¥ 72 it wiE
o A ¥ feee Rl nive
T T T ?
1 7
(2) 18
3) 15
4) 10

M -
2 "
@ ¥
@) 1
(4) -1
T.141  (3x-dy) (3x+4y) T WAL
(1)  ax-6y’
(2) 9x-16y°
(3)  6x-8y
4)  8x-6y

W
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Q.146 Who was the chairman of
'‘Drafting Committee’ of Indian
Constitution?

(1)  Dr.Rajendra Prasad

(2)
3)

(4)
When did Haryana came into

Pt. Jawahar Lal Nehru
Dr. B.R.Ambedkar

Sh. Rajgopalachari

Q.147
being?
(1) 1966
(2) 1950
(3) 1956
(4) 1961
Q.148 When did India become
Independent?

(1)  26th Jan, 1950

(2)
(3)

(4)

Which act was passed to silence
the critics of British

government?
(1)
(2)
(3)
(4)

15th August, 1947
14th August, 1947
26th Jan, 1930

2.149

RawlatAct
ArmsAct
Govt. of India Act 1935

Vernacular Press Act

W.146 arcei WRerET W T il @

IO P
(1) ®. TAETEE
(2) H. TEATEETE AEE
(3) =& AR AT
(4) shTowimerert
T.147 SR SRS & HE 412
(1) 1966
(2) 1950
(3) 1956
4) 1961

T.148 SRA AT FAESA?

(1) 269, 1950
(2) 15 3T, 1947 :
(3) 14 3T, 1947
(4) 269, 1930

¥.149 FRFEeT GUHR T ST T are
F @E TR B T W W

stfuferay aiite e @ ?

(1) U st

(2) R AR

(3) HRA TR AfuFEm, 1935
(4) SRR W SAuFEe

w
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MARORIMIE WANT Wy

'”
A

Q154 Who introduced permanent

Q.155

Q.156

Q.157

settiement Bengal?
(1) Lord Hastings

(@) Lord Comwallis
(3)  Lord Dulhousie
(4)  Lord Willian Bentinck

When and where was the first
cotton textile mill established In

India?
(1) 1859, Mumbai

(2) 1857 ,Dhaka
(3) 1861, Ahmedabad
(4) 1873, Calcutta

Who was responsible for making
English language asa medium of

higher education?
(1)  William Jones

(2) James Mill
(3)  Nathaniel Halhed
(4) Charles Wood

Who was the founder of Arya

Samaj?
(1)  SwamiDayanand Saraswati

(2) Ishwarchandra Vidyasagar
(3) SwamiVivekanand

(4)  RajaRammohan Roy

Ww.1854 e & wag sttrerer w et feEA

W.153

W.156

v.157

e

(1) e

(2) s W

(3) ore wemoft

(4) e fafora dfew

wreer # gl el Wt B s T
wt vy W e ?

(1) 1859 ek

(2) 1857, FTI

(3) 1861, AEHTER
(4) 1873, TETeRTl

Siioft wrar =y e Rver =T AT
T T e e ? |
(1) i

(2) whm '
3) RFEEeEE

(4) EH-TE

ST - B W W A
(1) wHrTEET et

(2) dvareE amTR
(3) v REAwET
(4) TONTEERATE

_——————
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Q.162 Which forest is known as lungs
of the planet earth.
(1)
()
(3)
(4)

Tiaga Forest

Amazon Rain Forest
Tundra Forest

Rain Forestof N.E. India

Q.163 Match the following from
column-l with column-l|

Column-| Column-li

a Chipko Moment i. Medha Patekar

b. Narmada Bachao ii. Al Gure

Andolan

iii. Rachel Carson
iv. Sunderial
Bahuguna

c. Climate Change
d. Silent Spring

(1) i, il iv
(2)
(3)
(4)

Which crop needs more water

i, iii, iv, i
iv, i, i, iii
i, iv, i, i
Q.164
per hectare?
(1)
(2)
@)
(4)
Name the oldestrock in India?
(1)  SatpuraRange, Karnatka

(2)  AmavalliRange, Rahasthan

(3) Vindhyachal
Madhya Pradesh

Shiwalik Range, Punjab

Barley
Maize
Sugarcane
: Wheat
Q.165

Range,

(4)

162 W ¥ & W gE B BES T

AR ?

(1) 2mE

(2) D THEA

3) g

(4) SER-YE! ARa  FEiE
W.163 P s — Far AT -

®wH -1 -2

i, HET g
ii. 3t IR

% faar stige™

@. T F=raA
AR

. STy IR

|, Yiie AT/ e

iii. T A

iv. greteer |gon

(1) i, iii, iv
(2)
(3)
(4)

T.164 Fr=r o & RF waet = i dea

STRT I S ST B R 2

(1) =t

(2) ==

(3) =

()

HRA W W [ w2 H / gda
S0l / TETE =T A = ?

(1)  HageT = uEied, Fict
(2) SEE gEaSoT, T
(3) T yEaeh, T
(4) i =t veiea, oo

i, dil, v, i
iv, i, i, iii

iii, v, i, i

9.165

B
—— — —
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Q.166

Q.167

Q.168

Q.169

Which of the following Is the
major factor responsible for
monsoon type of climate in India?
(i) Location (i) Thermal contrast

(lij)Upper air circulation

(iv) Inter tropical convergence
zone

(1)
(2)
(3)
(4)
Which of the following gulf has

onlyi
iiand ivonly
i, ii, ivonly

i, 1i, i, iv all

the potential for harnessing
controlling and using of the tidal
energy in India.

(1)
(2)
3)
(4)
What % age of earth surface is

Gulf of Manner

Gulf of Cambay
Chilka Lake
Backwaters of Kerala

covered by India
(1 21
(2) 3.2
3) 24
(4) 3.3

slopes are more prone

to soil erosion

(1) Infinite

(2) Steepslope
(3) Gentle slope

(4)  Vegetative robust covered
slope

“-.

W.166 mﬁwwgh‘h

9.167

v.168

v.169

R e

(1) FerfRr (i) m‘ﬁm@

(ST T Rt () g

IwrERieata Sftrror gy
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Q170 Which company was
responsible for Bhopal Gas

tragedy?
(1) Pepsi
(2) CacaCola

(3)  Union Carbide
(4) Bhopal Power Plant

Q.171 Which of the following is not a
feature of Indian Constitution?

(1)  Federal Government

(2)  Presidential Government
(3)  Parliamentary Govemment
(4)  Independence of Judiciary

Q.172 How many persons formed the
constituent assembly?

(1)  Agroup of 150 people
(2)  Agroupof200 people
(3) Agroupof250 people
(4)  Agroupof 300 people

Q.173 Where is the present building of
Supreme Court?

(1)  OnMathuraRoad

(2) OnG.TKarnal Road

(3)  OnJaipur-Delhi Road

(4)  OnGurgaon Alwar Road
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Q.174 What should we do when we see

Q.175

Q.176

Q.177

Q.178

some one violating the law?
(1)  Informthe police

(2) Ignore the situation

(3) Fileacaseinthe court
(4) Toarrestaccused

In which year Domestic Violence
actwas passed?

(1) 2005

(2) 2006

(3) 2007

(4) 2008

Which of the following is a water
related disease?

(1)  Malaria
(2) Eyeflu

(3)  Diarrhoea
(4) TB.

What does Article 21 says of
Indian Constitution ?
(1)  Rightto education

(2)  Righttospeech
(3)  Righttofreedom of religion
(4) Righttolife

A person who does not have
adequate nutrition or food is
knownas......

(1)  Malnourished

(2)  Nourished

(3)  Wellnourished

(4) All of the above

e by g
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Q.179 What is the term used for a ten- | W.179 7= T® WA T AeTH Y HR@ 3
year old child working in a

factory? THTH AT ¢, S 9T HE ST 2
(1)  Factory worker
(2) Baildaar 8; TR A
(3)  Childlabour (3) wHS
(4)  Allofthe above (4) Sugeradr
Q.180 Whatis the full form of PIL ? w.180 . . wer. ¥ S w8
(1)  Peopleinterestlitigation (1) <ot
(2)  Publicinterestlitigation (2) SHfEa AT
(3)  PublicIndia itigation (3) I ARe gfeET
(4)  People Indialitigation (4) e AR et
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